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SECTION 2 
Time — 25 minutes 

18 Questions 

Turn to Section 2 (page 4) of your answer sheet to answer the questions in this section. 

Directions:  This section contains two types of questions. You have 25 minutes to complete both types. For questions 1-8, solve 
each problem and decide which is the best of the choices given. Fill in the corresponding circle on the answer sheet. You may 
use any available space for scratchwork. 

 1. If 4 3 19t u+ + = ,  then t u+ =

(A) 3 
(B) 4 
(C) 5 
(D) 6 
(E) 7 

 2. In the figure above, three lines intersect at a point.  
If f = 85 and c = 25,  what is the value of a ? 

(A) 60 
(B) 65 
(C) 70 
(D) 75 
(E) 85 
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 3. If Marisa drove n miles in t hours, which of the 
following represents her average speed, in miles per 
hour?

(A) 
n
t

(B) 
t
n

(C) 
1
nt

(D) nt

(E) n t2

 4. If a is an odd integer and b is an even integer, which 
of the following is an odd integer? 

(A) 3b
(B) a + 3
(C) 2 a b+
(D) a b+ 2
(E) 2a b+

 5. In the coordinate plane, the points F 2 1, , G 1 4, ,

and H 4 1,  lie on a circle with center P. What are the 

coordinates of point P ? 

(A) 0 0,

(B) 1 1,

(C) 1 2,

(D) 1 2,

(E) 2 5 2 5. , .

 6. The graph of ( )y f x  is shown above. If 

3 6,x  for how many values of x does 

( ) 2 ?f x

(A) None 
(B) One 
(C) Two 
(D) Three 
(E) More than three 

 7. If the average (arithmetic mean) of t and t + 2  is x
and if the average of t and t − 2  is y, what is the 
average of x and y ? 

(A) 1

(B) t
2

(C) t

(D) t + 1
2

(E) 2t

 8. For all numbers x and y, let x y�  be defined 

as x y x xy y�
2 2 .  What is the value 

of ( ) ?3 1 1� �

(A)  5 
(B)  13 
(C)  27 
(D) 170 
(E) 183 
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 9. Morgan’s plant grew from 42 centimeters to  
57 centimeters in a year. Linda’s plant, which was  
59 centimeters at the beginning of the year, grew twice 
as many centimeters as Morgan’s plant did during the 
same year. How tall, in centimeters, was Linda’s plant at 
the end of the year? 

10. Since the beginning of 1990, the number of squirrels  
in a certain wooded area has tripled during every 

  3-year period of time. If there were 5,400 squirrels in 
the wooded area at the beginning of 1999, how many 
squirrels were in the wooded area at the beginning  
of 1990 ? 



SAT Preparation Booklet50

11. In the figure above, triangles ABC and CDE are 
equilateral and line segment AE  has length 25. What  
is the sum of the perimeters of the two triangles? 

12. Marbles are to be removed from a jar that contains 12 
red marbles and 12 black marbles. What is the least 
number of marbles that could be removed so that the 
ratio of red marbles to black marbles left in the jar will 
be 4 to 3 ? 

x v
v t
x pt

=
=
=

3
4

13. For the system of equations above, if x 0, what is 
the value of p ? 

14. If 2 1 1,x  what is one possible value of x ? 
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15. For what positive number is the square root of the  
number the same as the number divided by 40 ? 

16. In rectangle ABDF above, C and E are midpoints of 

sides BD  and ,DF  respectively. What fraction of 
the area of the rectangle is shaded? 

17. The graph above shows the amount of water

remaining in a tank each time a pail was used to

remove x gallons of water. If 5 gallons were in the 

tank originally and 12
3

 gallons remained after the 

last pail containing x gallons was removed, what

is the value of x ? 

18. If 0 ≤ ≤x y  and x y x y+ − − ≥2 2 25,  what 
is the least possible value of y ?

S T O P
If you finish before time is called, you may check your work on this section only. 

Do not turn to any other section in the test. 


